# Dividing Money (A)

Calculate each quotient.

1. 
$$94 ) \$7726.80$$

2. 
$$10 \overline{)} \$754.00$$

3. 
$$62 ) $1587.20$$

4. 
$$67 ) \$2492.40$$

6. 
$$30 ) $1413.00$$

 $^{10}$ . If 53 identical lanterns cost \$2522.80, how much did each lantern cost?

#### Dividing Money (A) Answers

Calculate each quotient.

1. 
$$94 \frac{\$82.20}{\$7726.80} \\ -\$7520.00 \\ -\$206.80 \\ -\$188.00 \\ \hline \$18.80 \\ -\$18.80 \\ \hline \$0.00$$

$$\begin{array}{c} \$ \ 25.60 \\ \hline 3. \quad 62 \ ) \ \$1587.20 \\ -\$1240.00 \\ \hline \$347.20 \\ -\$310.00 \\ \hline \$37.20 \\ -\$37.20 \\ \hline \$0.00 \end{array}$$

$$\begin{array}{c} \$ \ 37.20 \\ \hline 4. \qquad 67 \ ) \ \$2492.40 \\ -\$2010.00 \\ \hline \$482.40 \\ -\$469.00 \\ \hline \$13.40 \\ -\$13.40 \\ \hline \$0.00 \\ \end{array}$$

9. 
$$36 \frac{\$ 39.40}{\$ 1418.40}$$
 $-\$ 1080.00$ 
 $\$ 338.40$ 
 $-\$ 324.00$ 
 $\$ 14.40$ 
 $-\$ 14.40$ 
 $\$ 0.00$ 

<sup>10.</sup> If 53 identical lanterns cost \$2522.80, how much did each lantern cost? \$47.60

# Dividing Money (B)

Calculate each quotient.

3. 
$$50 ) $2430.00$$

6. 
$$55 ) \$2942.50$$

9. 
$$20 ) $1006.00$$

 $^{10\cdot}$  If 86 identical backpacks cost \$2812.20, how much did each backpack cost?

#### Dividing Money (B) Answers

Calculate each quotient.

$$\begin{array}{c} \$ 57.80 \\ 28 \ ) \$ 1618.40 \\ -\$ 1400.00 \\ \hline \$ 218.40 \\ -\$ 196.00 \\ \hline \$ 22.40 \\ -\$ 22.40 \\ \hline \$ 0.00 \\ \end{array}$$

$$\begin{array}{c} \$ \ 53.50 \\ \hline 6. \ 55 \ ) \ \$2942.50 \\ -\$2750.00 \\ \hline \$192.50 \\ -\$165.00 \\ \hline \$27.50 \\ -\$27.50 \\ \hline \$0.00 \end{array}$$

$$\begin{array}{c} \$87.80 \\ 15 \ ) \$1317.00 \\ -\$1200.00 \\ \hline \$117.00 \\ -\$105.00 \\ \hline \$12.00 \\ -\$12.00 \\ \hline \$0.00 \end{array}$$

9. 
$$20 \frac{\$50.30}{\$1006.00}$$
 $-\$1000.00$ 
 $\frac{\$6.00}{-\$6.00}$ 
 $\frac{\$0.00}{\$0.00}$ 

<sup>10.</sup> If 86 identical backpacks cost \$2812.20, how much did each backpack cost? \$32.70

# Dividing Money (C)

Calculate each quotient.

1. 
$$34 ) \$2543.20$$

2. 
$$72)$$
 \$4406.40

3. 
$$18 \overline{)} \$745.20$$

4. 
$$18 \overline{)} \$1593.00$$

6. 
$$10 ) \$805.00$$

7. 
$$34 ) $3165.40$$

8. 
$$20 \overline{) \$588.00}$$

 $^{10\cdot}$  If 64 identical toy robots cost \$2214.40, how much did each toy robot cost?

#### Dividing Money (C) Answers

Calculate each quotient.

$$\begin{array}{c} \$ \ 63.50 \\ 90 \ ) \ \$5715.00 \\ -\$5400.00 \\ \hline \$315.00 \\ -\$270.00 \\ \hline \$45.00 \\ -\$45.00 \\ \hline \$0.00 \end{array}$$

$$\begin{array}{c} \$83.40 \\ 9. & 23 \hline{)\$1918.20} \\ -\$1840.00 \\ \hline \$78.20 \\ -\$69.00 \\ \hline \$9.20 \\ -\$9.20 \\ \hline \$0.00 \\ \end{array}$$

<sup>10.</sup> If 64 identical toy robots cost \$2214.40, how much did each toy robot cost? \$34.60

8.

# Dividing Money (D)

Calculate each quotient.

1. 
$$43 ) $550.40$$

3. 
$$12 \overline{) \$685.20}$$

6. 
$$45 ) \$3249.00$$

8. 
$$10 \overline{)} \$240.00$$

 $^{10.}\,$  If 93 identical teddy bears cost \$6091.50, how much did each teddy bear cost?

#### Dividing Money (D) Answers

Calculate each quotient.

$$\begin{array}{c} \$ \ 65.10 \\ 45 \ ) \$ 2929.50 \\ -\$ 2700.00 \\ \hline \$ 229.50 \\ -\$ 225.00 \\ \hline \$ 4.50 \\ -\$ 4.50 \\ \hline \$ 0.00 \\ \end{array}$$

<sup>10.</sup> If 93 identical teddy bears cost \$6091.50, how much did each teddy bear cost? \$65.50

8.

# Dividing Money (E)

Calculate each quotient.

2. 
$$71 ) $2520.50$$

3. 
$$81 ) \$6650.10$$

6. 
$$79 ) \$6952.00$$

7. 
$$62 \overline{)} \$1922.00$$

8. 
$$21 \overline{)} \$546.00$$

9. 
$$40 ) $3888.00$$

 $^{10}$ . If 45 identical meals cost \$2353.50, how much did each meal cost?

#### Dividing Money (E) Answers

Calculate each quotient.

1. 93  $\frac{\$33.20}{\$3087.60}$  -\$2790.00  $\frac{\$297.60}{-\$279.00}$   $\frac{\$18.60}{\$0.00}$ 

 $\begin{array}{c} \$ \ 35.50 \\ \hline 2. & 71 \ ) \ \$2520.50 \\ -\$2130.00 \\ \hline \$390.50 \\ -\$355.00 \\ \hline \$35.50 \\ -\$35.50 \\ \hline \$0.00 \end{array}$ 

 $\begin{array}{c} \$82.10 \\ \hline \$82.10 \\ \hline \$6650.10 \\ \hline -\$6480.00 \\ \hline \$170.10 \\ \hline -\$162.00 \\ \hline \$8.10 \\ \hline -\$8.10 \\ \hline \$0.00 \\ \end{array}$ 

  $\begin{array}{c} & \begin{array}{c} \$ \ 14.60 \\ \hline ) \ \$569.40 \\ -\$390.00 \\ \hline \$179.40 \\ -\$156.00 \\ \hline \$23.40 \\ -\$23.40 \\ \hline \$0.00 \end{array}$ 

\$ 88.00 79 ) \$6952.00 -\$6320.00 \$632.00 -\$632.00 \$0.00

8.

9. 40 \$\frac{\$ 97.20}{\$3888.00} -\\$3600.00 \$288.00 -\\$280.00 \$8.00 -\\$8.00 \$0.00

10. If 45 identical meals cost \$2353.50, how much did each meal cost? \$52.30

# Dividing Money (F)

Calculate each quotient.

1. 80 ) \$808.00

2. 70 ) \$5733.00

3.  $85 \overline{) \$4029.00}$ 

4. 87 ) \$5489.70

5. 83 <u>\$\)\$2514.90</u>

6. 36 ) \$3376.80

7. 70 ) \$840.00

8. 50 ) \$2575.00

9. 28 ) \$1828.40

<sup>10</sup>. If 45 identical figurines cost \$666.00, how much did each figurine cost?

#### Dividing Money (F) Answers

Calculate each quotient.

1. 
$$80 \frac{\$ 10.10}{\$808.00} \\ -\$800.00 \\ -\$8.00 \\ -\$8.00 \\ -\$8.00 \\ \hline \$0.00$$

$$\begin{array}{c} \$81.90 \\ \hline 2. & 70 \ ) \$5733.00 \\ -\$5600.00 \\ \hline \$133.00 \\ -\$70.00 \\ \hline \$63.00 \\ -\$63.00 \\ \hline \$0.00 \end{array}$$

7. 
$$70 \frac{\$ 12.00}{) \$840.00} \\
-\$700.00 \\
-\$140.00 \\
-\$140.00 \\
\$0.00$$

$$\begin{array}{c} \$ 51.50 \\ \hline 8. & 50 \ ) \$2575.00 \\ -\$2500.00 \\ \hline \$75.00 \\ -\$50.00 \\ \hline \$25.00 \\ -\$25.00 \\ \hline \$0.00 \end{array}$$

9. 
$$28 \overline{\smash{\big)}\ \$1828.40}$$
 $-\$1680.00$ 
 $-\$148.40$ 
 $-\$140.00$ 
 $-\$8.40$ 
 $-\$8.40$ 
 $-\$0.00$ 

<sup>10.</sup> If 45 identical figurines cost \$666.00, how much did each figurine cost? \$14.80

# Dividing Money (G)

Calculate each quotient.

2. 
$$31 \overline{)} \$647.90$$

3. 
$$29 \overline{) \$2589.70}$$

4. 
$$17 ) \$1222.30$$

6. 
$$78 ) \$6099.60$$

 $^{10\cdot}$  If 91 identical video games cost \$7489.30, how much did each video game cost?

#### Dividing Money (G) Answers

Calculate each quotient.

$$\begin{array}{c} \$ \ 71.90 \\ \hline 4. & 17 \ ) \ \$1222.30 \\ -\$1190.00 \\ \hline \$32.30 \\ -\$17.00 \\ \hline \$15.30 \\ -\$15.30 \\ \hline \$0.00 \\ \end{array}$$

$$5. \qquad \begin{array}{r} \$ \ 43.40 \\ \hline 5. \qquad 58 \ ) \ \$2517.20 \\ -\$2320.00 \\ \hline \$197.20 \\ -\$174.00 \\ \hline \$23.20 \\ -\$23.20 \\ \hline \$0.00 \end{array}$$

7. 
$$95$$
  $\frac{\$ 14.50}{\$ 1377.50}$ 
 $-\$ 95.00$ 
 $-\$ 950.00$ 
 $\$ 427.50$ 
 $-\$ 380.00$ 
 $\$ 47.50$ 
 $-\$ 47.50$ 
 $\$ 0.00$ 

$$\begin{array}{c} & & & & & & \\ & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & \\ & & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ &$$

9. 
$$34 \overline{\smash{\big)}\ \$1397.40}$$
 $-\$1360.00$ 
 $-\$37.40$ 
 $-\$34.00$ 
 $\$3.40$ 
 $-\$3.40$ 
 $-\$3.40$ 

10. If 91 identical video games cost \$7489.30, how much did each video game cost? \$82.30

# Dividing Money (H)

Calculate each quotient.

3. 
$$81 ) $5945.40$$

4. 
$$95 \overline{)} \$2983.00$$

5. 
$$64)$$
  $55593.60$ 

6. 
$$75 ) \$2310.00$$

7. 
$$19 \overline{) \$640.30}$$

8. 
$$29 \overline{)} \$832.30$$

9. 
$$97 \overline{)} \$4753.00$$

 $^{10}$ . If 97 identical books cost \$6314.70, how much did each book cost?

#### Dividing Money (H) Answers

Calculate each quotient.

1. 
$$98 \frac{\$ 26.20}{\$ 2567.60} \\
-\$ 1960.00 \\
\$ 607.60 \\
-\$ 588.00 \\
\$ 19.60 \\
-\$ 19.60 \\
\$ 0.00$$

<sup>10.</sup> If 97 identical books cost \$6314.70, how much did each book cost? \$65.10

# Dividing Money (I)

Calculate each quotient.

1. 
$$72 ) \$6796.80$$

3. 
$$89 ) $5802.80$$

6. 
$$10 ) $228.00$$

7. 
$$87 ) $2453.40$$

9. 
$$36 ) $3369.60$$

10. If 41 identical movies cost \$3747.40, how much did each movie cost?

#### Dividing Money (I) Answers

Calculate each quotient.

1. 
$$72 \frac{\$94.40}{\$6796.80} = -\$6480.00 = -\$288.00 = -\$28.80 = -\$28.80 = \$0.00$$

$$\begin{array}{c} & \begin{array}{c} \$ \ 28.50 \\ \hline 28.50 \\ \hline \end{array} \\ 2. & \begin{array}{c} 36 \end{array} \\ \begin{array}{c} \hline \$ \ 1026.00 \\ \hline -\$720.00 \\ \hline \$306.00 \\ \hline -\$288.00 \\ \hline \$18.00 \\ \hline -\$18.00 \\ \hline \$0.00 \\ \end{array}$$

$$\begin{array}{c} \$ \ 22.80 \\ \hline 10 \ ) \ \$228.00 \\ \hline -\$200.00 \\ \hline \$28.00 \\ \hline -\$20.00 \\ \hline \$8.00 \\ \hline -\$8.00 \\ \hline \$0.00 \\ \end{array}$$

8. 
$$38 \frac{\$ 30.70}{\$ 1166.60}$$

$$-\$1140.00$$

$$\$26.60$$

$$-\$26.60$$

$$\$0.00$$

<sup>10.</sup> If 41 identical movies cost \$3747.40, how much did each movie cost? \$91.40

# Dividing Money (J)

Calculate each quotient.

2. 
$$67)$$
 \$4167.40

3. 
$$18 \overline{)} \$1708.20$$

4. 
$$26 \overline{)} \$1549.60$$

6. 
$$89 ) $5900.70$$

 $^{10}$ . If 95 identical shirts cost \$3657.50, how much did each shirt cost?

#### Dividing Money (J) Answers

Calculate each quotient.

1.  $\begin{array}{c} \$ \ 33.60 \\ \hline ) \ \$1881.60 \\ -\$1680.00 \\ \hline \$201.60 \\ -\$168.00 \\ \hline \$33.60 \\ -\$33.60 \\ \hline \$0.00 \\ \end{array}$ 

 $\begin{array}{c} \$ \ 59.60 \\ 26 \ ) \ \$1549.60 \\ -\$1300.00 \\ \hline \$249.60 \\ -\$234.00 \\ \hline \$15.60 \\ -\$15.60 \\ \hline \$0.00 \\ \end{array}$ 

  $\begin{array}{c} & \begin{array}{c} \$ \ 66.30 \\ \hline & 89 \end{array} ) \ \$5900.70 \\ -\$5340.00 \\ \hline & \$560.70 \\ -\$534.00 \\ \hline & \$26.70 \\ -\$26.70 \\ \hline & \$0.00 \end{array}$ 

\$ 55.30 8. 81 ) \$4479.30 -\$4050.00 \$429.30 -\$405.00 \$24.30 -\$24.30 \$0.00

10. If 95 identical shirts cost \$3657.50, how much did each shirt cost? \$38.50